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34250 [ ssokskortork 7012 KL 5 RS B LR 1000
35058 3skkeksksckkk8090 J AN 5 TS B LFE2A B 1000
350524k kkkk%80 1 X MHIPRLE 5 TS B IR 1000
350524 kpxkckk %3516 i P 5 ZEUE B TR 1000
34222 4xsk5%3%5%2036 HB B 5 RSB TR 1000
3504 26%kk*k44k%6017 £l 5 ZRUE B LR 1000
342626%kksskskskk0039 v 5 RIS B LR 1000
34262 3kkkokskickok683 7 % 5 ZHRUE B TR B 1000
341225%kkkk%0kk 7736 Y4k U6 % TG B LIRS 1000
43100 3kskkekeiciek601 1 St 5 5 ZHRUE B TR AR 1000
340824k skk0k k3832 HIT 1L 5 GRS B LA 1000
37083 kkkkkkkk 5816 B/} % S B LB 1000
342422 %%k sx50k %3598 KER ) TGS LRE2EBE 1000
34060 2skkkskckok 2022 XI5, 5’y ZRUE S TR AR 1000
34250 [ oksttor k6223 [ [ [ 5’4 UGB LIRS 1000
34082 3skkekekeictorek 492X PR u RS B IR 1000
34222 4ok skk0k 1993 AR 5 TGS LIRS 1000
341126%kkkkk4601 1 Tk 2 % TS R T RARE 1000
34122 I ssokstsok k8707 J7 5 54 TG B TR 1000
34240 Lkoksteiokk54 13 BN 5 TS R TR 1000
341122k %5k %583X 75 E % 5 G S TR 1000
340828 kkkkokk5313 Ea 5 TS R TR AR 1000
360735%kskkekkokk0033 KB % CRUE B LR 1000
341225%kksksckokok 1 334 AN % RS B R 1000
34222 2%kskkkk%80 10 AT % CRUE B LR 1000
341102:kkkkk40225 Tk 5’4 TS R TR 1000
34240 | sskskiok k6126 BN 54 G B TR 1000
341226%kkkkk%5553 28 % TS R T RARE 1000
34999 skt 451 7 ZE A0 5 RIS B LA 1000
34122 5%k 0235 SRy 5 THUE B TR AR 1000
340828 %k xxx%k%%3719 e G % TS B LFE2ARE 1000
34222 4k kx3k %07 1X N | 3 RSB TR 1000
34032 1 sskskskskskskk89 15 2, 5 UG B TR 1000
34240 | kststerksksk 321 4 izl 5 THUE B TR AR 1000
340824 ksksksskokokok601 7 PR 3 S B LR B 1000
342225 %kk x5k %281 5 DiNAR 5 TS B IR AR 1000
34222 sskskskskskskk 6565 AL TR 5’S UG B TR 1000
340403 %%k k563610 UlEE 3 RSB TR 1000
349929 2%sksksksksiekek(09 1 X Xk % TS B LFE2A R 1000
34128 | kskstrksksksk 0833 MRt 5 HUE B TR AR 1000
34062 [skktoksiiokok 7278 gL e % TS B LFE2ARE 1000
340823 %Hkk k3540846 £E © RSB TR 1000
341928 I sksksteeokokok0337 TiET % TS B LFE2A R 1000
340123 %skkk3k%7494 FEHT P P G S TR 1000
3412043k k55k2435 2R % TS B LFE2A R 1000
34240 | sskkk3k%54 16 g 3 LS B TR 1000
34062 1 skkkeksekokk9039 ] % VUG B TR 1000
34122 1 skkk36%2796 Z= [ A P G B TR 1000
341225%kksksokokk 773 1 TRV 5 VUG B TR 1000
341024%kkkx5k%951 3 EEE AT P G S TR 1000




34120 3%skskskcekokok2219 S 5 TS B LR 1000
34220 [ ssoksksor k4757 TR 5 RSB TR 1000
34262 5skskskskskskskok 1012 K IrML 5 RUE B LR B 1000
341125%kk5x50k%0552 JE SR 5 RSB TR 1000
34032 skskroiok ] 508 Ly ag u TS B LIRS~ 1000
34120 4%kk x50k 2438 EHLIL 5 RSB TR 1000
341 125%kikkkk6878 HH RE AT 5 UG B LR B 1000
342625 %kk5%35%0020 Ve 7 RSB TR 1000
34222 2sskskskskskokk 2824 2\ 5’8 UG B LR B 1000
340828 %koksktokk 1437 ELM ) GRS B LR 1000
341202sk5k55k%291 3 X 5 ZRUE B TR AR 1000
341623k x55k8723 SR UG 5’4 G B LIRS 1000
341622%xkkkkok(0212 Z [ 5 ZEE B LB 1000
340323k kk50k%6075 FRate ) GRS B LB 1000
341204%kskskskckkok 1 84X THH 58 ZRUE S TR B 1000
340322sksksksskskokok68 1 3 fhES ) S B LR 1000
34242 THkktokkk 2515 il 5 ZRUE B LR 1000
34122 4%k sk50k% 3335 ZEH ) GRS B LB 1000
340824 kpkkckk %4016 T 5 ZRUE B LR 1000
34122 1 kskkssekokek 1 300 TN u TG B LIRS 1000
341125%kkkkkk2358 FEFM 5 RS B IR 1000
3401 23kskkorckokk 5442 B % GRS B RSB 1000
34222 5kskkkskkk321 1 25 R 5 TS B TR 1000
340824 ksksksskokokok 28 1 3 LN 5 S B TR 1000
34242 5%kskk5kk57 13 EER 5 TS B TR 1000
340825k 083 1 S % CRUE B LR 1000
34260 kskskksskk6527 I 5’4 TS B IR AR 1000
340824 kkskkk5% 1816 R 5 LS R TR 1000
340824 ktokokk 0644 R 7 TG TR 2ERE 1000
3408265 %k k5% 267X B4 RS 3 LS R TR 1000
341623 kkpkkdkkk6415 FRak % ZRUSEE L% 1000
342292k k3224 T 75 % GRS B RSB 1000
34082 Txkkkxkk%0333 BEE % RS B TR 1000
34082 Tastekskotolk 7139 B % TS B LFE2ARE 1000
34122 Txsksxsok k4813 TR 5 RSB TR 1000
34222 seskskskskskskk 2557 1S 5 S B TR 1000
34032 1 #skskskk892 1 i PR © RSB TR 1000
34262 2skskskskskskskok Q442 LUK 5’8 UG B TR 1000
341 125%kskskskskok687 4 RIE 5 TS B TR 1000
341 226%kkkkk5k2 7 22 i 5’y TS B LFE2A R 1000
340322 %k kx50k% 1612 Toudt % RSB TR 1000
34122 I skskskockokk 6607 Ul % G B TR 1000
3492625%skssskskskok3] 15 anll 5 TS B TR 1000
34242 Tk 251X FEE & 5 UG B TR 1000
341226%%k5%3%54%0856 B % RSB TR 1000
34082 5%k kb k342 1 pa i) 5’y TS B LFE2A R 1000
34122 1 sskskksork 4450 FERS P LS B TR 1000
34222 5k 4026 gk A i 'S UG B LB 1000
341623 %kkkx5k%8023 1972 5’4 LS B TR 1000
34040635k k35%2224 =i 54 VUG B TR 1000
34222 | skkkkk 0084 EFE 5’4 LS B TR 1000
341222skkksk0kk00 15 ZEL % TS B LFE2A R 1000
34222 | skkkskk551 4 T P LS B TR 1000
342225kl 28 15 G250 % TS B LFE2A R 1000




34082 5%k 1 524 Wikt u TS B LFE2A B 1000
34031 I ¥soksksork0619 =R 5 RSB TR 1000
34088 | kskskkokk 4335 A 5 S B LRSI 1000
34242 3%skkxk0k %2312 TR AT 5 RSB TR 1000
34082 3skketokercickok 3765 Y u TS B LIRS~ 1000
34222 4ok kx30k%05 1 8 B 5 RSB TR 1000
341 126%skskstkokokok | 528 MEXE 5’8 TS B LRSI 1000
342492 5%skskstskskokok5 22 | BE 5’4 LRUE B TR 1000
34032 kskkkrik8918 2k 5 TS B LFE2A B 1000
34222 5sskskskskskskok5 722 h i & S B LR 2B 1000
34222 I skokstoiokk 1 548 (Eus ] u TS B TR 1000
341223 %sk5k30k%21 14 T E ik 5 GRS B LR 1000
341282 kpdkckkk 1 816 T Lk 5 ZRUE B LR 1000
342222 %%k8 43542879 ERE ) GRS B LB 1000
3412258567026 = LS RS B IR 1000
34122 3%ksksksksiekek 393X e Al 5 S B LR 1000
34222 L kkkskkekokok4036 Tk 5 ZHRUE S TR AR 1000
34032 1 skskskskkrk 249 1 WiET 5 S B LR 2B 1000
342225%kkkokkk2013 JE AR 5 S B TR 1000
34122 1 sskskskskskskk 9073 EES 5 S B LR B 1000
34290 1kketeksictork20 1X VK 5 ZHRUE B TR B 1000
34999 | skekskstesieieokok 6024 I i S B TR 1000
342425%kkk5k46516 it 5 TS R TR 1000
341127 skskkorckokk28 15 Wit % CRUE B LR 1000
341226kkxkkkx 1016 N 5 ZRUEE LR 1000
34128 I ssksketeoksiokk2810 =k % CRUE B LR 1000
340824 kkkk60430 f A % TG TR 2ERE 1000
3401 23sskskskeokokok 2088 & i S B TR R 1000
34240 kktokiokokk6143 Stttk 5’4 ZRUSEE LR 1000
341202%kskskskskckok 3330 pIKES 5 S B TR 1000
34122 Tskkskickokk 7619 B i % TS B TR 1000
34042 | ssokstsor k3837 I ARIE 5 GRS B RSB 1000
34222 Isktoriokk553 1 = % TS R TR 1000
349250 kskkkriok k2616 A5 8z % TS B LFE2ARE 1000
34128 I sokskksor k0827 el 5’4 RSB TR 1000
34220 1 sskskskskskskekG 721 SRR i© S B TR 1000
341622 %%k k362314 23 5 RSB TR 1000
34922243k kkk0k 1 448 y NGB 5’y TS B LFE2ARE 1000
340822 %%k %%5%0919 i 3 RSB TR 1000
342422%kp%kk4%k%635X XS #E > 5 UG B LB 1000
34122 2%skssskskskok 76T T HLER 3 THUE B TR AR 1000
34240 1 sskskskskskskok 7693 &I 5 UG B TR 2B 1000
341928 Ikttt 4273 A BH 5 THUE B TR AR 1000
34949 2%skskskskkokok 5806 Tz 5’y TS B LFE2ARE 1000
34032 2kskssskskskok 4257 FRI- 5 TS B TR 1000
34122 3skskkokskiokok 4918 gk A % TS B LFE2A R 1000
34022 | skokskiokk 3853 Kibvis 3 LS B TR 1000
34242 3sskskskskskkk 4586 KRR 5’8 UG B LB 1000
349920 skttt 4 433 A 5 RIS B LR 1000
340826k kk3kk401 7 ThE % TS B LFE2A R 1000
349992 5%skskssskskok 2010 Tk 4k 4 P S B TR 1000
34250 1 sskskskskrrk 823X HHEAE 5 UG B LR B 1000
341225k 0507 WAL 5’4 RIS B LR 1000
34032 kkkkriok 7988 FHEAE 5’y TS B LFE2A R 1000




342423tk k6175 ¥otid 5 UG B TR AR 1000
340824kttt [ 419 - JE 5 RSB TR 1000
34922225k k38k% 4010 Tt 5 TS B LIRS 1000
342622554k 381 3 R A % RSB TR 1000
349222 kskkriok k2039 TiE 5 TS B LIRS~ 1000
34012 [ ssokskiok k0058 i & 5 RSB TR 1000
340823 %kxxkk%%3519 B 5 TS B LIRS 1000
34032 1 ssoksksork 0171 5 L 5 RSB TR 1000
34032 1 skskkriok6592 LEAT 5 TS B LFE2A B 1000
34122 4%sk5%%k%0519 AU ) GRS B LR 1000
34220 [ktoiokk8246 s u UGB TR 2ERE 1000
340323%sksksksskokok0019 (AR EEIN ) S B LR b 1000
341125%kkkkk871 1 Fa L 5 ZHUE B TR R 1000
340825k ks k k%4218 [ERAN 5 G B LIRS 1000
34242 THkxskkkk 1610 i K ¥ 5 S B LB 1000
34242 3sskskskskskskk 7178 KRR 5 RS B LR 2B 1000
340826%kxkkkk 1816 HRA- 5 VS B LB 1000
342626k kx3k%097 3 XIS ) GRS B LB 1000
34082 3skkkskcokk2 1 14 2 5 ZRUE S TR AR 1000
34242 Takskxxk6645 s 5’4 TG B LIRS 1000
34128 kotoksiciokok 1017 BN 5 ZHRUE B TR B 1000
34222 4skskkokckokk 0852 1593 % GRS B RSB 1000
340824kkskckokk681 1 A=a] 5 TG R TR 2ERE 1000
349220 [sksketeksiokok 721 2 T lft % CRUE B LR 1000
341 125%kskk5kk4523 FRA 5’4 TS B TR 1000
34122 5skskkokskokok69 18 RN 5 GRS B TR b 1000
341223 kkkkkkk431 1 7K 25 % TG TR 2ERE 1000
340828 skskskskskokok 5312 e 5 S B TR R 1000
341225%kkkkkk48957 EEE % TS R TR AR 1000
340828 kskskskskskokok 4618 = 5 S B TR 1000
34240 ksl k047 1 P 5H % TS B TR 1000
341226583k 574 1 I 54 GRS B RSB 1000
341282skskkskk3k40 1 1 B & 5 TS B TR 1000
340123k | 394 2 % TS B LFE2ARE 1000
341222 %kkk k365941 | EA % RSB TR 1000
3401 22%kskskskckok6620 pINEEE 5’y TS B LFE2A R 1000
342222 %Kk %% 6476 Tk 5 RSB TR 1000
3401235458062 07X ikES % TS B LFE2ARE 1000
34082 3skskskstrkokok 2534 Jria 5 TS B TR 1000
34120 4skkkkskokok | 828 T4 5’y TG B TR 1000
340123 %skkk30kk 3344 g 7 RSB TR 1000
34128 sk 1070 R 5 s B TR 1000
34122 4%sksk5k5k5%68 1 5 A6 [ % RSB TR 1000
341 125%ksickkkk3793 ZEt 5 UG B TR 1000
34012 Isktosokk 1900 PERANGS 4 TS B IR 1000
340123skkkkk729 3 RIS % S B LRSI 1000
340323 %kkkxk0k %0483 XIF] 7 LS B TR 1000
341182k 28 1X JH & 5 UG B LB 1000
34240 | skoksortor 1 888 FiEeE 7 LS B TR 1000
34262 3skkksksckokk4419 ALl % TS B LFE2A R 1000
340828 %kkkxkokx21 18 X1 5 LS B TR 1000
340824k 3210 Tl 5 UG B LR B 1000
3412265k kkk0k% 133X [ H o P LS B TR 1000
341204skkkskokok 1217 ZMN % TS B LFE2A R 1000




34242 3%kHkk44k%6598 G R 5 TR B LI B 1000
340825 %kkkkk0k %021 7 AR 5 RSB TR 1000
34128 2skskskskskskskek 6833 VF R 5 RUE B LR B 1000
340823 %kkkkk0k %2553 JEE % 5 RSB TR 1000
34012 [ sksksteteiekok34 1 X (B 5 S B LRSI 1000
34242 Txsokkxkk %0535 LG 5 RSB TR 1000
340322%skskskkokok 7416 SR 5 TS B LRSI 1000
341125%kkkx50k%2197 G 5 RSB TR 1000
34122 1 skskskskskskskek 3797 FHF B UG B LR B 1000
34222 kskkkk k7436 K fiA i 5 TGS LIRS 1000
340828kkksksckokk5316 R 5 ZRUE B TR AR 1000
34242 5sskskskskskskok8 162 TR 1 S B LR 2B 1000
341602%kxkkkk2810 Tk 5 ZEE B LB 1000
342522k k% k540929 A48 5’4 G B LIRS 1000
34222 [ ktoriokk8259 X 5 RS B IR 1000
34240 [ ssoksksork671 1 EE! ) GRS B LB 1000
340828skkkskookk 421 K5 5’y ZHRUE S TR AR 1000
3412043k 5350k 203X iDRIEN5Y 5 GRS B LB 1000
342224 kp%k4k %0759 =15 5 ZRUE B LB 1000
34220 [ oksksork 7217 = IEAE ) GRS B RSB 1000
340825%kkskckkk021 1 rE R 5 ZHRUE B TR B 1000
34120 3%kskskkckckok 2536 = 5 RIS B LR 1000
341226%kkkxkk43833 = % TS R TR 1000
34999 2%skskskskskokok5619 RAOE 5 RIS B LA 1000
34222 4%kkkxkk%09 1 3 K 5 TS R TR AR 1000
34292 3skkskkok k3138 B E B % CRUE B LR 1000
34122 Tkl k4018 o= % TS R TR 1000
341125k k6869 i B T % UG B TR 2B 1000
341225%kkkkkk42792 24 % TS R TR AR 1000
342425%kk5%%5k%8310 VR % TG B TR 2B 1000
340303kkkk4k%0613 AR % ZUE B LR 1000
341126%kskkkkokk0215 B )E % UG B TR 2B 1000
34222 45kkkkk£ 082X R=4 5’4 TS R TR 1000
34242 5skskksckskk 243X PN % VG B TR 1000
340825 %kkkxkk%23 18 EXN 5 TG R TR 2ERE 1000
3411 24sk5kx550k26 1 2 JaRES % TS B LFE2A R 1000
341226%kksskkskok 3854 Z= B 5 TS B TR 1000
3408245k kkk0k%54 34 2 5 TS B LFE2ARE 1000
34081 [ kskskstrskskok5 32 | A 5’4 TS B TR 1000
34188 | skskskskskokokok 2218 [ 3¢ 5 UG B LB 1000
349492 6%kssskskskok 3218 JE A 5 THUE B TR AR 1000
341226%kskkkk%321 0 (RLERGE % G B TR 1000
341222kkkxkk4281 3 ThE: ) RS B IR 1000
34162 3%kkkkkkk481X K 5 UG B TR 1000
342622 %%k5%38% 1600 W 5’4 TG R TR 2ERE 1000
34242635k 58562013 T E 5 VUG B TR 1000
341222 %%k 5 x5k%87 18 RS P CRUE B TR 1000
349262 5%k k3k0k% 1 98 1 TEE 5’y TS B LFE2A R 1000
34122 1 sskskksork 2794 G CANSE P CRUE B TR 1000
341282skskskskskskskek()353 SR 5 UG B LB 1000
340824k skskk 481X iz 5 S B TR 1000
34999 5sksksksksisieokok 242X K IH 4 © S B LRSI 1000
34260 | ssokskksorkd 321 ETER 7 LS B TR 1000
34999 5sksksksckokokok 2855 X % TS B LFE2A R 1000




3422243kkkkk%%0 136 D) 5 TR B LI B 1000
34222 4xsokkxk0k k0277 R 5 RSB TR 1000
340123kkkkkkkk 3146 T 5’8 ZRUE B LR P 1000
342426%kkkk3k %5423 5 kS8 5’4 RSB TR 1000
342224 x4k %0221 205 5’8 UG B LR B 1000
341224%5k5%%5%5376 = b % TRUE R TR AR 1000
341125%kskskekokok0910 Kz 5 TS B LRSI 1000
34122 2%sksksskskskok 2397 FEE % ZHUE B TR 1000
340825k 151 1 EN B UG B LR 1000
3424235k k5454196 BRI 5 TGS LIRS 1000
342224k 1619 HE o) ZRUE B TR AR 1000
341 125%sksksskskokok 4933 R ) S B LR 1000
34162 3kkkekskickok 3038 B =X 5 ZRUE S TR AR 1000
342426%%kkx30k%20 18 TR 5 GRS B LB 1000
340825%xkokkk(0255 REH 5 S B LB 1000
3492202k 5k k%447 T K 7% I 5 TGS LIRS 1000
34253 Lksksriokk(0219 FBEER 5 VS B LB 1000
341282k kk35k%607 | 5 5 TGS LR 1000
341224tk 1 335 EIH 5 ZRUE S TR AR 1000
340826%kskskskskokok0038 i 5 5 RIS B LR 1000
34082 3skkkskckokk2 151 NS 5 ZHRUE B TR B 1000
34031 I soksotsor k0238 P—k 5 GRS B RSB 1000
342222%kk8k5k%6019 TR 5 TG R TR 2ERE 1000
34128 Iskskkoikokk 7757 4k % RS B R 1000
34240 Isktoiokk5279 TR % TS B TR 1000
34052 | skskstesiekokok661 1 A 5 5 CHUSE TR 1000
320925%kkkkkkk3915 X8 % TS B TR 1000
320830sksksksisiskokok 1 418 =% 5 CHUSE TR 1000
341222%kkkkkk 3874 RENZ % TRUE B TR 2ERT 1000
34032 [kl 595 1 A % IS B R 1000
341222885k 7904 PG EA 7 RGBT 2ERT 1000
340602k 55k 202X EILE 54 IS B R 1000
34290 Isktosork 1820 i 7 RGBT 2ERT 1000
34102 [skeketosiiokok 1475 TLAH % GRS B TR 1000
349229 5skktsickokk 2427 gt 7 TS B R 1000
34242 2skktokskiokok 5277 FIRM % GRS B TR 1000
34220 | sskkkkokx9035 EA 5 TS B R 1000
34070235 kksk5%3519 i 3 RS B T AR R 1000
34072 [kttt ] 524 ¥ 5’4 HUS B TR 1000
34202 | skskkoickokk 3827 AR % GRS B TR 1000
34120 4%kssk5k5kk 2652 ShEE 5 TRUS B TR 1000
340823 skskskkkskokok 4033 Zk 3 CHUSE TR 1000
34222 5%kkkxk0k %4937 FE] 2% % TS B LR AR 1000
3408245846428 YN 5’8 CHUSE TR 1000
341225kl 00 1 7 EEi % TS B LR AR 1000
34222 4ssksiokk 1312 ) % VRS B TR 1000
342222 %Kkk k3844846 il 5’4 VRS B LR 2B 1000
34012367112 4 % CHUSE LR 1000
3406045k %x%5%221 3 A % U B TR 1000
34062 Lioktoriork631 1 Ji &5 % TR B TR 2ERE 1000
3429292 5%skskskstiekok (052X 1St 5’y S B TR 1000
3403225066202 1 TR 54 RS B TR 2B 1000
34082 4%kskskskskskok60 1 X Bl s 5 RUS B TR 1000
34128 k%9610 5K BH Y % RS E LI 1000




34040 3kkkk350k%24 10 (EALD 5 RS E T2 1000
34292 3xskkx30k%00 13 ZHNI 5 TS B LR AR 1000
342625%kxkkkk(004 1 [N 5’8 RS B LR AB 1000
34222 4ok kx30k%0957 1 5 RS B LR AR 1000
34120 3s%kkskkkx %2813 2 5 RS B LR AB 1000
341223 %kkkkk0k%351 8 195 5 RS B LR AR 1000
34999 2%skskskokok08 1 1 e 5 ZHEUSE LR 1000
342222 %kkk k%8024 R i RS B LR AR 1000
34229 | seskskskskekekk9 22X Rl K W 5’8 RS B LR AR 1000
34128 Iskkstekekiokok90 1 7 P ) TS B LR 2R 1000
34082 Tkkkerkok k6015 J22 B B 5 RS B TR 1000
340123 %%k k345840 ALy u RS B LR 2R 1000
341221 kpkkokk 2816 P 5 RS B LR AP 1000
341125%%kk855%3090 Ve % LU B TR 1000
342222skkkskkkk 645X SR 5 TR B TRE2EE 1000
34122 4%k 1 1 1 =] B izt 5 RS B TR 1000
341225%kkkkkk6963 I 5’y ZRUEE TR 1000
341282 %%k5%3k%03 16 K fi ) TS B LR 1000
34128 ketoksiciokok 6052 THE 5 TR B TRE2EE 1000
34242 Txsksk3k%4810 gt 4 ) RS B LR AR 1000
341 126%kkkkk: 783 1 JA- 5 5 U B TRE2EE 1000
34222 I ssoksksokk 701 1 B 5 IS B R 1000
34222 I ksktokiokk0516 X % RGBT 2ERT 1000
3422243545602 10 KA % LS B TR 1000
341225%kkkk5k46039 A % TRUE B TR 2ERT 1000
34122 | sskkfeosiokk2570 A B, % TS B R 1000
340323 kkokkk2934 TR % TS B TR 1000




